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This booklet is for use in your Science lessons. Please look after it in the same way you would your exercise book and ensure that your presentation is always PROUD. 
Ensure that your booklet is returned to your class book box at the end of the lesson. 

Lesson Breakdown
Lesson 1: 4.4.1.1 / 4.4.1.2 The structure of an atom / mass number & atomic number
Lesson 2: 4.4.1.2 Isotopes
[bookmark: _Hlk124036279]Lesson 3: 4.4.1.3 The development of the model of the atom
Lesson 4: 4.4.1.3 The scattering experiment
Lesson 5: 4.4.2.1 Radioactive decay
Lesson 6: 4.4.2.1 Uses of radiation & 4.4.3.3 Uses of nuclear radiation
Lesson 7: 4.4.2.2 Nuclear equations
Lesson 8: 4.4.2.3 Half-lives and the random nature of radioactive decay & 4.4.3.2 different half-lives of radioactive isotopes
Lesson 9 (HT only): 4.4.2.3 New decline expressed as a ratio
Lesson 10: 4.4.2.4 Radioactive contamination
Lesson 11: 4.4.3.1 Background radiation
Lesson 12: 4.4.4.1 Nuclear fission
Lesson 13: 4.4.4.2 Nuclear fusion


Keystone words
1. Atomic
2. Radioactive
3. Decay
4. Nuclear
5. Contamination
6. Irradiation



Lesson 7: Teacher notes
AQA content
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Chunking
a. Nuclear equations
b. Alpha decay
c. Beta decay



Key direct and explicit teacher explanations: 
a. Nuclear reactions can change the number of each type of particle in the nucleus. 
In alpha decay, which emits alpha particles composed of 2 protons and 2 neutrons, the mass of the nucleus decreases (because protons and neutrons have a mass of 1). The charge of the nucleus also changes because protons are positively charged. 
Alpha particles are fast moving electrons that are emitted from the nucleus (not the shells / energy levels). This electron is made when a neutron divides into a proton and a neutron. Protons and neutrons have the same mass so the mass of the nucleus does not change. However, its charge does change. 
The emission of gamma rays does not change the mass or charge of the nucleus because gamma rays do not have mass or charge. 
b. Alpha particles are composed of two protons and two neutrons. The mass of the alpha particle is 4; when an alpha particle is emitted from the nucleus, its mass decreases by 4 (the mass number will decrease by 4). The loss of two protons also reduces the atomic number by 2. 
Model balancing of equations). 
c. Beta particles are composed of an electron. Electrons have a minute mass; the atomic mass does not change when alpha particles are emitted. 
The atomic number increases by 1. This is because the electron that is emitted is made when a neutron decays into a proton and an electron. The atomic number tells us the number of protons in the nucleus; the atomic number must increase by 1 when a beta particle is made. 
Model balancing equations. 


















Teacher notes (e.g. key questions, examples, non-examples, explanations)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Lesson 7: Nuclear equations
Objective: By the end of this lesson, you will be able to represent nuclear reactions using nuclear equations.
Skills Drill / Retrieval
	Answer
	PA / SA

	1

	

	

	2

	

	

	3

	

	

	4

	

	

	5

	

	



Connect
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A. Blocked practice – Alpha decay
Each of these elements is undergoing alpha decay. An alpha particle is made of 2 neutrons and 2 protons. He often show this as He (because helium also contains 2 protons and 2 neutrons).
Fill in the gaps for atomic mass and proton number for each of the elements marked X. 
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6 and 3


24 and 12


201 and 71


42 and 20

145 and 56
18 and 86
204 and 90

204 and 82
181 and 77

181 and 73
B. Blocked practice – Beta decay
These elements are going through beta decay. A beta particle is a high energy electron. This has a mass of -1. 
Fil in the gaps for atomic mass and atomic number for each element marked as X. 
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Complete  the nuclear equations for the decays below.  The first two have been done for you as an example.
1. Americium- 241 decays by alpha emission.

2. Carbon – 14 decays by beta emission.

3. Bismuth – 211 decays by alpha emission


4. Polonium – 204 decays by alpha emission

5. Radon – 224 decays by alpha emission

6. Uranium – 235 decays by alpha emission

7. Neptunium – 237 decays by alpha emission

8. Strontium – 90 decays by beta emission

9. Phosphorus – 32 decays by beta emission

10. Nickel – 63 decays by beta emission

11. Lead – 209 decays by beta emission

12. Hydrogen – 3 decays by beta emission
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Radioactive Decay
1.	Atoms of uranium-238 decay to produce another radioactive atom called thorium-234. Thorium-234 can then go on to decay by emitting beta radiation.
(i)   What does beta radiation consist of?................................................................................(1)
(ii)	Thorium-234 decays to form protactinium-234. What differences are there between the nucleus of a protactinium-234 atom and the nucleus of a thorium-234 atom?
............................................................................................................................................
..........................................................................................................................................(2)
 
2.	[image: ](technetium) is produced by the radioactive decay of [image: ](molybdenum). What type of decay is this and what change occurs in the nucleus of a molybdenum atom when this happens?
......................................................................................................................................................
.....................................................................................................................................................
...................................................................................................................................................(2)
3.	Potassium-40 decays to give argon-40.
	(i)	What is the atomic number of potassium?.................................................................(1)
	(ii)	What is the atomic number of argon?........................................................................(1)
	(iii)	What must happen to one of the protons?................................................................(1)
	(iv)	Write an equation to show this decay.
.........................................................................................................................................(2)
4.	The isotope protactinium-234 emits beta radiation.
	(i)	Write an equation to show the decay process.
.........................................................................................................................................(2)
	(ii)	What is the product of this decay?
.........................................................................................................................................(2)




Lesson 8: Teacher notes[image: ]


AQA content
Radioactive decay is random. 
The half-life of a radioactive isotope is the time it takes for the number of nuclei of the isotope in a sample to halve, or the time it takes for the count rate (or activity) from a sample containing the isotope to fall to half its initial level.
Students should be able to explain the concept of half-life and how it is related to the random nature of radioactive decay.
Students should be able to determine the half-life of a radioactive isotope from given information.
Triple only: Radioactive isotopes have a very wide range of half-life values.
Students should be able to explain why the hazards associated with radioactive material differ according to the half-life involved.
Chunking
· What is a half-life? 
· Determining half-life from graphs
· Half-life from tabulated data
· Related calculations
Key direct and explicit teacher explanations: 



Teacher notes (e.g. key questions, examples, non-examples, explanations)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Lesson 8: Half-lives
Objective: By the end of this lesson, you will be able to determine the half-life of a radioactive substance using given information.
Skills Drill / Retrieval
	Answer
	PA / SA

	1

	

	

	2

	

	

	3

	

	

	4

	

	

	5

	

	



Connect
We can use probability theory to predict the likelihood of something happening. For example, an unbiased coin has 2 sides. If we spin the coin the probability of it landing on heads is 50% or 0.5. The probability of it landing on tails is 50% or 0.5.
If we spin the coin twice, we can calculate the probability of it landing on heads both times: 
0.5 x 0.5 = 0.25 (or 25%)
Radioactivity also follows probability theory. Scientists calculate probabilities of nuclei decaying in a certain amount of time. 
If there is a 50% probability of a radioactive nucleus decaying in 3 hours:
a. How many would decay in 6 hours if we start with 10,000 nuclei? 
Answer: (Probability of decay in 3 hours + Probability of decay in 6 hours) x 10,000
                (0.5 + 0.25) x 1000 = 7,500 nuclei decay
     b. How many nuclei would have decayed after 3 half-lives? (o.5 + 0.25 + 0.125) x 10,000 = 8750

______________________________________________________________________________________________________________________________________________________________________________      c. How many nuclei would not have decayed? 
______________________________________________________________________________________________________________________________________________________________________________    
10,000 – 8750 = 1,250

[image: ]



15.28 days
192g
2.25g
4.5 days
40s
12.5%
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Use the first graph to model methodology. 
You should use the visualiser to check answers. 
Different for each graph. 
Workings should be shown on graphs. 
For each graph: 
a. Work out the half-life.
b. Find the count rate or number of nuclei left after two half lives have elapsed. 
c. Demonstrate that the half life is a constant.

All working should be shown on the graphs.
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Days
90 / 30 = 3 half-lives elapse
1/23 = 1/8 or 0.125
1 x 0.0125 = 0.0125g
40.35 / 8.07 = 5 half-lives elapse
5 = 1 / 25 x X = 0.03125 X
X = 160g
2.8 x 1010 / 1.4 x 1010 = 2 half-lives elapse
25.0g = 1/22 x X = 0.25X
X = 100g
1/2x = 62.5 / 500 = 0.125 or 1/8
2x = 8    x = 3 half lives have elapsed
639000 / 3 = 213,000 years
62.0 / 12.4 = 5 half-lives elapse
1/25 = 0.03125
750 x 0.03125 = 23.44g
1/2x = 12.5 / 50 = ¼
2x = 4      x = 2 half lives elapse
14.4 / 2 = 7.2s
8.10 / 2.7 = 3 half=lives elapse
1/23 = 0.125
0.125 x 100 = 12.5g
[image: Graphical user interface, text, application  Description automatically generated]

Lesson 9: Teacher notes

Key direct and explicit teacher explanations: 

Chunking
a. Ratios and converting fractions to ratios
b. Calculating net decline as a ratio
c. Synoptic 
AQA content
(HT only) Students should be able to calculate the net decline, expressed as a ratio, in a radioactive emission after a given number of half-lives.


Teacher notes (e.g. key questions, examples, non-examples, explanations)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Lesson 9: Half-lives & ratios
Objective: By the end of this lesson, you will be able to represent declines in radioactivity as a ratio.
Skills Drill / Retrieval
	Answer
	PA / SA

	1

	

	

	2

	

	

	3

	

	

	4

	

	

	5

	

	



Connect
In some calculations related to radioactivity you might need to convert decimals into fractions. This can be done as follows: 
· Step 1: Write down the decimal divided by 1, like this:   decimal / 1
· Step 2: Multiply both top and bottom by 10 for every number after the decimal point. (For example, if there are two numbers after the decimal point, then use 100, if there are three then use 1000, etc.)
· Step 3: Simplify (or reduce) the fraction
Convert these decimals into fractions: 
a. 0.750.75 / 1    Multiple top and bottom by 100
75 / 100   Simplify (divide by 5 and then divide by 5 again)
75/100 = 15/20 = 3/4

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
b. 0.500.50 / 1    Multiple top and bottom by 10
5 / 10=   Simplify (divide by 5)
5/10 = 1/2


____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
c. 




Fraction = 1/128 (from last question)      Fraction decayed / 127/128
Raton = 1:127 (remaining : decayed)
189 / 27 = 7 half-lives elapse
1/27 = 0.0078125 or 1/128
Fraction = ½ (from last question)  Fraction decayed = 1/2
Ratio = 1:1
63 / 63 = 1 half-life elapses
1/21 = 1/2
Fraction remaining = 1/8 (from previous question) Fraction decayed = 7/8
Ratio 1:7 (Rhodium : Rubidium)
9.9 / 3.3 = 3 half-lives elapse    
1 / 23 = 1/8 or 0.125
Complete the questions. Express your answer as a ratio.
a. Rhodium-101 has a half-life of 3.3 years. What fraction of rhodium-101 nuclei remain after 9.9 years?
[bookmark: _Hlk125764960]________________________________________________________________________________________________________________________________________
b. Rhodium-101 has a half-life of 3.3 years. It decays to make rubidium-101. What is the ratio of rhodium-101 to rubidium-101 after 9.9 years?
________________________________________________________________________________________________________________________________________
c. Titanium-44 has a half-life of 63 years. What fraction of titanium-44 nuclei remain after 63 years?
________________________________________________________________________________________________________________________________________
d. Titanium-44 has a half-life of 63 years. After 63 years, what will be the ratio of titanium-44 to the new nuclei?
________________________________________________________________________________________________________________________________________
e. Dubnium-261 has a half-life of 27 seconds. What fraction of dubnium-261 nuclei remain after 189 seconds?
________________________________________________________________________________________________________________________________________
f. Dubnium-261 has a half-life of 27 seconds. What will be the ratio of dubnium261 nuclei to the decayed nuclei after 189 seconds?
________________________________________________________________________________________________________________________________________


Complete the questions. Express your answer as a ratio.
a. Rhodium-101 has a half-life of 3.3 years. What fraction of rhodium-101 nuclei remain after 1.65 years?
________________________________________________________________________________________________________________________________________
b. Rhodium-101 has a half-life of 3.3 years. It decays to make rubidium-101. What is the ratio of rhodium-101 to rubidium-101 after 1.65 years?
________________________________________________________________________________________________________________________________________
c. Titanium-44 has a half-life of 63 years. What fraction of titanium-44 nuclei remain after 94.5 years?
________________________________________________________________________________________________________________________________________
d. Titanium-44 has a half-life of 63 years. After 94.5 years, what will be the ratio of titanium-44 to the new nuclei?
________________________________________________________________________________________________________________________________________
e. Dubnium-261 has a half-life of 27 seconds. What fraction of dubnium-261 nuclei remain after 77.5 seconds?
________________________________________________________________________________________________________________________________________
f. Dubnium-261 has a half-life of 27 seconds. What will be the ratio of dubnium261 nuclei to the nuclei after 77.5 seconds?
________________________________________________________________________________________________________________________________________


 
Fraction = 2000/11317
Ratio = 2000:9317
77.5 / 27 = 2.5 half-lives elapse
1/22.5 = 1 / 5.6585 = 2000/11317
Fraction = 250 / 707
Ratio = 250:457
94.5 / 63 = 1.5 half-lives elapse
1/21.5 = 1 / 2.828 = 250/707
Fraction = 500/707
Ratio = 500:207
1.65 / 3.3 = 0.5 half-lives elapse
1/20.5 = 1/1.414 = 500/707

Lesson 10: Teacher notes

Key direct and explicit teacher explanations: 
a. Defining irradiation and contamination
b. Irradiation and types of radiation
c. Contamination and types of radiation
d. Comparing hazards associated with irradiation and contamination
[image: Graphical user interface  Description automatically generated]
Chunking
a. Defining irradiation and contamination
b. Irradiation and types of radiation
c. Contamination and types of radiation
d. Comparing hazards associated with irradiation and contamination
AQA content Radioactive contamination is the unwanted presence of materials containing radioactive atoms on other materials. The hazard from contamination is due to the decay of the contaminating atoms. The type of radiation emitted affects the level of hazard. 
Irradiation is the process of exposing an object to nuclear radiation. The irradiated object does not become radioactive.
Students should be able to compare the hazards associated with contamination and irradiation.
Suitable precautions must be taken to protect against any hazard that the radioactive source used in the process of irradiation may present.
Students should understand that it is important for the findings of studies into the effects of radiation on humans to be published and shared with other scientists so that the findings can be checked by peer review

Examples: A range of examples and non-examples.

Contamination examples: 
Doctors can deliberately contaminate a patient's body when it will help with diagnosis with a radioactive source, such as:
· drinking a radioactive mixture (barium meal) will make soft tissue such as your intestine show up on an x-ray
· technetium-99 is a radioactive isotope that can be introduced into the body to make soft tissue such as the brain or the thyroid show up on a scanner (revisit prior examples)
Irradiation examples: 
· Radioactive beams can be used to preserve fruit by exposing the fruit to a radioactive source, typically Cobalt 60. The gamma rays emitted by the cobalt will destroy any bacteria on the fruit but will not alter the fruit in any significant way.
· The method can also be used to sterilise surgical instruments.









Teacher notes (e.g. key questions, examples, non-examples, explanations)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


Teacher notes (e.g. key questions, examples, non-examples, explanations)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Lesson 10: Radioactive contamination
Objective: By the end of this lesson, you will be able to identify examples of irradiation and contamination and hazards associated with irradiation and contamination with different types of radiation.
Skills Drill / Retrieval
	Answer
	PA / SA

	1

	

	

	2

	

	

	3

	

	

	4

	

	

	5

	

	



Connect – use types of radiation and three main properties.
A. Which travels the greatest distance in air? 
Alpha        
Beta          
Gamma     

B. Which travels the greatest penetrating power? 
Alpha        
Beta          
Gamma     

C. Which travels the greatest ionising power? 
Alpha        
Beta          
Gamma     

Radioactive substances can be used to kill bacteria on fresh, cooked and frozen foods. Killing the bacteria reduces the risk of food poisoning. 

[image: Diagram  Description automatically generated]
a. [bookmark: _Hlk125802030]Are the chickens in contact with the Cobalt–60 or are they exposed to the radiation being emitted? 
____________________________________________________________________________________________________________________________________________________________
b. Can the radiation be blocked from reaching the chickens? 
____________________________________________________________________________________________________________________________________________________________
c. Are the chickens radioactive once they have been exposed to the Cobalt-60?
____________________________________________________________________________________________________________________________________________________________
d. Have the chickens been irradiated or contaminated with the cobalt-60?
Explain your answer by referring to the answers to questions a – c.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________





Irradiated.
The radioactive material is not inside or on the chickens. 
It could be blocked from reaching the chickens and the chickens are not radioactive after the treatment. 
No
Yes 
Exposed / not in contact


Radioactive substances ae used to control the thickness of paper in paper mills. 

[image: Diagram  Description automatically generated]
a. Is the paper in contact with the radioactive source or is it exposed to the radiation being emitted? 
____________________________________________________________________________________________________________________________________________________________
b. Can the radiation be blocked from reaching the paper? 
____________________________________________________________________________________________________________________________________________________________
c. Is the paper radioactive once they have been exposed to the radioactive source?
____________________________________________________________________________________________________________________________________________________________
d. Has the paper been irradiated or contaminated by the radioactive source?
Explain your answer by referring to the answers to questions a – c.
[bookmark: _Hlk125819297]____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
e. If you were the papermill manager, would you use a source with a long or short half-life?
Explain your answer. 
[bookmark: _Hlk125819392]____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________




Long half life so the source could be used for a long period of time. 
See answers for previous question.


Short. So the radioactive substance was active within the body for a short period of time. Less damage would be caused. 
Contaminated. 
The radioactivity was in contact with them. It could not be blocked or removed. The people were radioactive. 
Yes, the radioactivity remained in their bodies.
No.
In contact.
Following the Chernobyl nuclear disaster, water supplies contained high concentrations of radioisotopes. Following the disaster, local residents had to wait 36 hours for the government to decide to evacuate them. In this time, they drank the water supply. 

a. Were people in contact with the radioactive source or were they exposed to the radiation being emitted? 
____________________________________________________________________________________________________________________________________________________________
b. Could the people who drank the water block the radiation from reaching their tissues? 
____________________________________________________________________________________________________________________________________________________________
c. Were the people radioactive once they had been exposed to the radioactive source? 
____________________________________________________________________________________________________________________________________________________________
d. Were the people irradiated or contaminated by the radioactive source?
Explain your answer by referring to the answers to questions a – c.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
e. If you had drank the water, would you want the radioisotopes to have a long or short half-life?
Explain your answer. 
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Following the Chernobyl disaster, fiefighters were irradiated. 
a. Would it be better for the firefighters if the radiation travelled a long or short distance in air? Explain your answer. 
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
b. Would it be better for the firefighters if the radiation had a high or a low penetrating power?
Explain your answer.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
c. Would it be better for the firefighters if the radiation had a high or a low ionising power?
Explain your answer.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
d. Is alpha, beta or gamma radiation the most dangerous when it is outside the body? 
Use your answers to parts a – c to explain your answer.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________








Gamma. 
Whilst it is least ionising, it has the highest penetrating power and greatest distance travelled in air. So, firefighters are more likely to be exposed and it is more likely the radiation will enter their bodies. 
Low. 
Less ionisation within the body. 
Low. Less likely to enter the body / penetrate clothing. 
Short distance. Reduces area exposed to irradiation. 
Alpha. It is has low penetrating power and so is more likely to b absorbed by the body where it cause damage by ionisation. 
High. More likely to leave the body without being absorbed.
Low so less ionisation of tissues (e.g. to tissues, DNA etc)
Short. Less likely to enter surrounding tissues. 
Following the Chernobyl disaster, local residents were contaminated because they ingested food and water containing radioactive material.
e. Would it be better for the residents if the radiation travelled a long or short distance in air? Explain your answer. 
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
f. Would it be better for the residents if the radiation had a high or a low penetrating power?
Explain your answer.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
g. Would it be better for the residents if the radiation had a high or a low ionising power?
Explain your answer.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
h. Is alpha, beta or gamma radiation the most dangerous when it is inside the body? 
Use your answers to parts a – c to explain your answer.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________






Lesson 11: Teacher notes

Chunking
a. Background radiation. 
b. Applying ideas about background radiation.
AQA content
Triple only: Background radiation is around us all of the time. It comes from: • natural sources such as rocks and cosmic rays from space • man-made sources such as the fallout from nuclear weapons testing and nuclear accidents. 
The level of background radiation and radiation dose may be affected by occupation and/or location.
Radiation dose is measured in sieverts (Sv) 1000 millisieverts (mSv) = 1 sievert (Sv) Students will not need to recall the unit of radiation dose.


Key direct and explicit teacher explanations: 



Teacher notes (e.g. key questions, examples, non-examples, explanations)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Lesson 11: Background radiation
Objective: By the end of this lesson, you will be able to identify sources of background radiation. 
Skills Drill / Retrieval
	Answer
	PA / SA

	1

	

	

	2

	

	

	3

	

	

	4

	

	

	5

	

	



Connect
Imagine a city left deserted for thirty years. That's what happened to Chernobyl, in the Eastern European country of Ukraine, after a nuclear disaster.
In 1986 a safety test at a nuclear power plant there went wrong and there was an explosion followed by fires. Many people were killed.
The accident left the area unsuitable to live in because of the radiation that leaked into the nearby area.
Radiation is impossible to touch, see or smell, but is very harmful. The area around the plant was evacuated and an no-go zone was put into place, so that no-one could come within 30 kilometres of the plant.
Following the disaster, a cloud containing radioactive substances was blown towards northern Europe. Governments ordered that fast-growing crops were destroyed because the radioactive substances might become concentrated in them. 
Were the governments trying to avoid irradiation or contamination of its people? 
Explain your answer. Contamination.
The crops containing radioactive material would be eaten if they weren’t destroyed. 
The source of radiation could not be removed from the person once it was eaten. 

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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2.5
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Lesson 12: Teacher notes[image: Graphical user interface, text, application, email  Description automatically generated]

AQA ContentAQA content
Physics only: Nuclear fission is the splitting of a large and unstable nucleus (eg uranium or plutonium). Spontaneous fission is rare. Usually, for fission to occur the unstable nucleus must first absorb a neutron. 
The nucleus undergoing fission splits into two smaller nuclei, roughly equal in size, and emits two or three neutrons plus gamma rays. Energy is released by the fission reaction. 
All of the fission products have kinetic energy. 
The neutrons may go on to start a chain reaction. 
The chain reaction is controlled in a nuclear reactor to control the energy released. The explosion caused by a nuclear weapon is caused by an uncontrolled chain reaction. 
Students should be able to draw/interpret diagrams representing nuclear fission and how a chain reaction may occur.













Chunking
a. Nuclear fission
b. Chain reactions
c. Controlling chain reactions


Key direct and explicit teacher explanations: 



Teacher notes (e.g. key questions, examples, non-examples, explanations)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Lesson 12: Nuclear fission
Objective: By the end of this lesson, you will be able to describe nuclear fission and chain reactions and explain how chain reactions are controlled in nuclear reactors. 
Skills Drill / Retrieval
	Answer
	PA / SA

	1

	

	

	2

	

	

	3

	

	

	4

	

	

	5

	

	



Connect - https://www.edfenergy.com/energywise/what-are-advantages-nuclear-energy
Is there anything positive about nuclear power stations? 
Although nuclear power stations take considerable investment to build, they have low running costs and longevity. This means they are particularly cost-effective. Most of the carbon dioxide (CO2) emissions associated with nuclear power stations happen during construction and fuel processing, not when electricity is being generated.
Nuclear can help meet our country's demands
Uranium is the raw material used to create fuel – it comes from stable regions around the world and is widely available. This dependability means nuclear power is a long-term and low-carbon option.
However, we need enough power stations to process it. They last between 40 and 60 years after which they are decommissioned. Seven of the eight nuclear power stations in the UK are due to close by 2030. These create enough electricity to power 50% of the UK's homes (or around a fifth of all the electricity used in the UK).
Nuclear energy isn't only low-carbon, it's also reliable when compared to other low-carbon options. So when the sun doesn't shine or the wind doesn't blow, nuclear takes over keeping the lights on.

What are advantages of using nuclear power stations to generate electricity?Low carbon dioxide emissions (lower contribution to global warming).
Uranium is widely available from stable regions.
Reliable compared to other low carbon options.

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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A neutron
An unstable nucleus divides into two smaller nuclei which are roughly equal in size. 
2 or 3 neutrons are released
As is gamma radiation
Each neutron collides with another unstable nucleus. 
The process repeats itself.
[image: A screenshot of a computer  Description automatically generated with medium confidence]
(iii) Describe what happens during a chain reaction. 
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Lesson 13: Teacher notes

Chunking
Nuclear fusion
Source of energy from nuclear fusion
AQA content
Physics only: Nuclear fusion is the joining of two light nuclei to form a heavier nucleus. In this process some of the mass may be converted into the energy of radiation.
Key direct and explicit teacher explanations: 



Teacher notes (e.g. key questions, examples, non-examples, explanations)
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Lesson 13: Nuclear fusion
Objective: By the end of this lesson, you will be able to describe nuclear fusion and explain why it releases large amounts of energy. 
Skills Drill / Retrieval
	Answer
	PA / SA

	1

	

	

	2

	

	

	3

	

	

	4

	

	

	5

	

	



Connect
Nuclear fusion is an alternative to nuclear fission. The following advantages are often cited: 
Less radioactive waste than fission.  There is no radioactive waste by-product from the fusion reaction. Only reactor components become radioactive; the level of activity depends on the structural materials used. Research is being carried out on suitable materials to minimise decay times as much as possible.
Safety. A large-scale nuclear accident is not possible in a fusion reactor. The amounts of fuel used in fusion devices are very small (about the weight of a postage stamp at any one time). Furthermore, as the fusion process is difficult to start and keep going, there is no risk of a runaway reaction (preventing meltdowns).
Abundant fuels. Deuterium can be extracted from water and tritium will be produced inside the power station from lithium, an element abundant in the earth’s crust and seawater. Even with widespread adoption of fusion power stations, these fuel supplies would last for many thousands of years.

In your opinion, which advantage is the most persuasive in terms of persuading you that nuclear fusion is a better option than nuclear fission? Explain your answer.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Answers will vary!

Explain what happens in the process of nuclear fusion.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________




[image: Graphical user interface, text, application  Description automatically generated]


[image: Graphical user interface, text, application  Description automatically generated]
[image: Text, email  Description automatically generated]


Fission reactors are used in nuclear power stations.
Engineers are developing fusion reactors for use in power stations.
Fusion uses isotopes of hydrogen called deuterium and tritium.
•        Deuterium is naturally occurring and can be easily extracted from seawater.
•        Tritium can be produced from lithium. Lithium is also found in seawater.
The table shows the energy released from 1 kg of fusion fuel and from 1 kg of fission fuel.
 
Type of fuel
Energy released from 1 kg of fuel in joules
Fusion
3.4 × 1014
Fission
8.8 × 1013
Suggest two advantages of the fuel used in a fusion reactor compared with the fuel used in a fission reactor.
1. _________________________________________________________________
___________________________________________________________________
___________________________________________________________________
2. _________________________________________________________________
___________________________________________________________________
___________________________________________________________________
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Nuclear equations are used to represent radioactive decay.

In a nuclear equation an alpha particle may be represented by the
symbol:

SH
,ne
and a beta particle by the symbol:

0
-1

e

‘The emission of the different types of nuclear radiation may cause a
change in the mass and /or the charge of the nucleus. For example:

219 215 . 4
g radon — “; polonium + ,He

So alpha decay causes both the mass and charge of the nucleus to
decrease.

14 14 . 0
scarbon — " nitrogen + e

So beta decay does not cause the mass of the nucleus to change
but does cause the charge of the nucleus to increase.

Students are not required to recall these two examples.

Students should be able to use the names and symbols of common
nuclei and particles to write balanced equations that show single
alpha (a) and beta () decay. This is limited to balancing the atomic
numbers and mass numbers. The identification of daughter
‘elements from such decays is not required.

‘The emission of a gamma ray does not cause the mass or the
charge of the nucleus to change.
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Balance the equations shown below. Remember that you may only write numbers in front of any of
the formulae but you may ot change any formulae. Some of the equations may already be balanced.

1 H + - 2 Hal
2|2z + 0 - 2 zno
3|3+ 2 Al - 2 AlCl
4 |4 Na + 0z — 2 NaO
5|2M + O - 2 Mgo
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Balance the equations shown below. Remember that you may only write numbers in front of any of
the formulae but you may ot change any formulae. Some of the equations may already be balanced.

1 Hy +Ch = Ha
2 Zn o+ 0 - Zno
3 Cla + Al - Al
4 Na + O - NaO
5 Mg+ O - Mgo
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d)

e)

%2ZRa> 3He + —X
23U > 3He + —X
33P0 > jHe + —X
18%4u > jHe + —X

183pt > 4He + —X
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a) SHe> e + —X

b) iiNa> _Je + —X

o BtAu> e + —X

0 P
a BK> e+ —X

o '$Cs> e+ —X
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2U1Bi » 20Tl + %a
204po - 209Ph + fa
224Rn - 229P0 + a
2350 - 234Th + ta
237Np - 233Pa + %a
38T > 35V + 98
> s+ 38
S3INi - 3cu+ 9B
209Pb - 205Bi + _9B

3H > 3He + 9B
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Uranium-238
¥
Thorium-234

¥
Protactinium-234

¥
Uranium-234

¥
Thorium-230

¥
Radium-226

¥
Radon-222

¥
Polonium-218

¥
Lead-214

¥
Bismuth-214

¥

Polonium-214

¥
Lead-210

¥
Bismuth-210

Lead-206 (STABLE)

Alpha Decay

Beta Decay

Beta Decay

Alpha Decay

Alpha Decay

Alpha Decay

Alpha Decay

Alpha Decay

Beta Decay

Beta Decay

Alpha Decay

Beta Decay

Beta Decay

Alpha Decay

2380 - %4Th +%a
BT - Btpa + %
2B%Pa — BiU + 6
2330 - 0Th +%a
230Th > *3Ra +3a
228Ra - *Z2Rn +ia
22Rn > %§iPo +3a
2830 > *§3Pb +3a
253Pb — *44Bi + 3B
243Bi > 23iPo + 3B
253Po > *9Pb +3a
239Pb — *33Bi + 3B
233Bi > 33P0 + 3B

283Po > *§5Pb +3a
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Complete the decay chain for U-238. For each step you will need to fillin the gaps to show what is
produced. You will also need to complete the equations to show the atomic numbers and atomic mass
numbers of the elements involved

Uranium-238
v Decay 238y - 234Th +
Thorium-234
v Beta Decay 234Th — +.98
v Beta Decay . +.98
+ __ Decay - 280Th +
Thorium-230
230 226
v __ Decay 30Th - 288 +
-226
v Alpha Decay 28 o +ia
v ___ Decay - 28po +
Polonium-218
¢ Alpha Decay 218P0 — +ia
v ___ Decay > 28Bi +
-214
v ey W+
214
I3 Decay 24 210py 4
Lead-210
210 210
v Decay Ph > 239+
-210
210 0
4 Beta Decay 83 — +_1)
¥+ Alpha Decay - +ia

(STABLE)




image25.wmf
Tc

99

43


image26.wmf
Mb

99

42


image27.png
Radioactive Decay

Atoms of ranium.238 decay o produce anather radiosctive atom called thorium- 234
Tharium-234 can then g0 on ta dcay by emicting beta radistion.

() What doss beta radiaton consist of.......fast moving electron, o

() Thorium-232 decays to form protactnium. 232, What dfferences ara there betueen the
el of  protactinium-234 stom snd the nucieus of  thorium-234 stom?

protactinium has one neutron fawer (1) and ona proton more (1.

@

Te{technetium) s produced by the radioaccive decay of {b(melybdenum). What type of

decay i his and what change occurs n the nucleus of 2 molybdenum atom whan this
happens?

alpha dacay (1],

2 nautron becomes proton (1) the neutron emies an slecron (1.

@
3. Argon-20 decays togie potassium-40.
) Whatis the stomic number of potassiun. 1 o
(i) Whatis the stomic number o argon’. 1 w
() What must happen 1o one o the newtrons?. turninto s proton........(1)
(W) Write an squation to show this decay.
argon40 > potassium-30 + beta paricle.
foar = 8+ 95 @
4. Theisotope protactinium-234 emits beta radiation.
() Wri an squation toshow the decay process
“Hra = WU + 95, @
(i) Whatis the product of ths decay?
sranium-234 and 3 bets parcice @

() Compars the stomic number snd mass number oftisproduct withthat of
uranium-238. Wht do you notic?

<ame stomic numbr, but diferent mass numbr, herafors diffarent numbars of newtron (it
anisotopel..(2)
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Complete the questions.

1. Sodium-24 has a half-life of 15 hours.

. If we start with 64 grams of sodium-24, fill in the chart for how much sodium-24 we will have at
each interval.

Time [Ohrs [15hrs [30hrs [45hrs [60hrs [75hrs [90hrs [105hrs
Mass_ |[ [ ) [C [l 1] T I[ [ J[C ]

]
Hifives \_F \F I I T T I
b. What percentage of the sample will remain at 45 hours? L) %

2. Lawrencium-247 has a half-life of 8 seconds.
a. I we begin with 96 mg, how long will it take until 3 mg remain?

Time | ) |C ) ([ 11 L J]T 11T T
Mass [96mg | [ [ 1T 110 11 C ]

Hiflves 2 \J U \J U U

3. Asample of Fermium-253 decays to 6.25% of its original amount in 18 days.
a. How many days is its half-life? ] days

Time |[ ] [C [ T 1T TTT [ 11T ]
Mass | 100% il ][ [T [ 1 C ][ ]
A\ S g T S <

4. Zinc- 71 has a half-life of 2.4 minutes.
a. Ifyou started with 18 g, how much would be left inutes? —Jgrams

Time [ ] [C JC TTC [ ( [T 1]l JTC J
Mass [ 1] ( ]| J|TC J [T [ )] I -]
U v T N Nt

5. We need 3 grams of sodium-24 for an experiment. It takes 90 hours for Amazon to deliver it to the lab.

What is the minimum amount that must be. shwvnwe are no delays in the
transportation)? (Hint: you must work backwards.) grams.

JTT J[C [ J[C J[ L ]
[ [ 1[I

= &7_\} Z

6. Radon-222 has a half-Iife of 3.82 days. How long before 1/16 of the original sample remains?
ldays
1

T
I[C (
L I O L S A

U

(

Time |
Mass [

Time
Mass
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1)

2

3)

4)

s)

6)

7

Calculating Half-Life of Radioactive Isotopes Worksheet:

How much of a 100.0 gram sample of “%Au s left over after 8.10 days if its half-life is
2.70 days?

A'50.0 gram sample of N decays to 12.5 grams in 14.4 seconds. What is its half-life?

The half-life of % is 12.4 hours. How much of a 750.0 gram sample is left after 62.0
hours?

What is the half-life of **Tc if a 500.0 gram sample decays to 62.5 grams in 639,000
years?

The half-life of 22Th is 1.4 x 10*° years. If there are 25.0 grams of the sample left after
2.8 x 10% years, how many grams were in the original sample?

There are 5.0 grams of 341 left after 40.35 days. How many grams were in the original
sample if its half-life is 8.07 days?

An isotope of 17Cs has a half-life of 30 years. If 1.0 grams of Cesium-137 disintegrates
over a period of 90 years, how many grams of Cesium-137 would remain?




image35.png
Irradiation

Occurs when an object is exposed to a source.
of radiation outside the object.

Doesn't cause the object to become
radioactive.

Can be blocked with suitable shielding or
moving away.

Stops as soon as the source is removed.

Contamination

Occurs if the radioactive source is on or in the
object.

A contaminated object will be radioactive for as
long as the source is on or in i

Once an object is contaminated, the radiation
cannot be blocked from it.

It can be very difficult to remove all of the.
contamination.
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‘The diagram shows how a conveyor belt can be used to move food past a cobalt-60
source.

Thick metal shielding

% —Cobalt-60

SRS S e G b Sy

Moving conveyor belt
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a1
The pie chart shows the average proportons of background radiation from various

sources in the UK.
Cosmic
rays
/Medical

/ (including
X-rays)

| Foodand | Radongas
| drink 7 /

Three sources of background radiation are given in List A
‘Statements about sources of background radiation are given in List B.

Draw one line to link each source of background radiation in List A to the statement about
that source given in List B.

Draw only three lines.

ListA ListB
‘Are used 1o show broken bones.
Xerays
“The radiation comes from outer
space.
Cosmic
rays
Comes from soil containing a
radioaciive isotope of potassium.
Radon gas
Gives about 50 % of all background
radiation.
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a1
1 mark for each correct fine

If more than 1line has been drawn from a box in List A then
all those lines are marked incorrect.

‘A used to show broken bones.

Xerays
[ The radiation comes from outer
space.
Cosmic rays.
‘Comes from soil containing a
radioactive isotope of potassium
Radon gas

Gives about 50% of all
background radiation
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Q2.
The pie chart shows the sources of the background radiation and the radiation doses that
the average person in the UK is exposed o In one year.

Radiation dose is measured in millsieverts (mSv).

Other, including nuclear weapons testing,
nudlear accidents and power stations
0.01mSv.

Medical,
including
Xrays
0.3amSv

Food
and drink
0.25mSv

Radon gas |

\ . 1.25mSv
| Cosmicrays
0.30msv

Rocks and
buidings
035mSv.

(a) ) Whatis the total radiation dose that the average person in the UK receives?

Total radiation dose msv
)
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other factors may be involved
accept a specific suggestion
‘eqthey may be exposed to other types of radiation

accept cannot be sure (in many cases) that the cause of
deah i radon (poisoning)
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®)

(i) Astudentlooked at the pie chart and then wrote down three statements.
Which one of the following statements s a correct conclusion from this data?
Puta tick v/ in the box next to your anser.

Inthe future, more people il be exposed 1o a greater proportion of

radon gas.

People that have never had an X-ray get 50% of their radiation dose from

radon gas.

“The radiation dose from natural sources is much greater than from ariicial

sources.

]

‘The conceniration of radon gas inside a home can vary from day to day. In some
homes, the level can buld up to produce a significant health risk. It is estimated that
each year 1000 to 2000 people die because of he effects of radiation from radon
gas

(0 Itis not possible to give an exact figure for the number of deaths caused by
the effects of radiation from radon gas. Why?

]
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‘The table gives data for the radiation levels measured in homes in 4 difierent
parts of the UK_The radiation levels were measured using two detectors, one
in the fiving room and one in the bedroom. The measurements viere taken
over 3 months.

Area of | Number of homes | Number of homes | Average | Maximum
theUK | inthearea inthe sample | radiation | - radiation
level in level in
Bam* Bam*
A 590 000 160 15 81
B 484000 130 18 92
c 221000 68000 162 10000
) 318000 35300 9 6900

i) Give one reason why the measurements viere taken over 3 months using

detectors in different rooms.

homes were sampled i areas C and D than in areas A and B.

]

) Use information from the table to suggest why a much higher proportion of

@
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@) any one from:
+  different concentrations i different rooms

+ toaverage out daily fuctuations
accept to find an average
accept to make the resuit (more) reliable / uaiid
0 not accept to make more acturate on its oun

() average level (much) higher (in C and D)
accept converse.
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Nuclear power can be used to generate electricity through nuclear fission.
Figure 1 shows the process of nuclear fission.

Figure 1

Uranium-235 Q
-

(a) Complete the sentences.

Choose answers from the box

gamma rays.

ight rays proton neutron

nucleus

Xrays

During the process of nuclear fission, a uranium

absorbs a

Electromagnetic radiation is released in the form of
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(@) nucleus

neutron

gamma rays

in this order only
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Figure 1 shows the nucleus of an atom of uranium-235 (U-235) about to undergo nuclear
fission.

Figure 1

xo— urzg

\

(i) Before nuclear fission can happen the nucleus of a uranium atom has to absorb the
particle labelled X

Whatis particle X?

Tick (/) one box.

an electron a neutron aproton

a

(i) The process of nuclear fission, shown in Figure 2, causes the nucleus of the
uranium-235 (U-235) atom to split apart and release two of the particles X.
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uranium-235 shown spliiting into two fragments

or
each particle X shown colliding with a uranium-235 and producing 2 further particles

X

‘one uranium-235 shown splitting is suficient, provided no
contradiction shown
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Complete Figure 2 to show how the particles X start a chain reaction.
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lowering the control rods increases the number of neutrons absorbed
accept converse description
(s0) energy released decreases

allow changing the position of the control rods affects the number
of neutrons absorbed for 1 mark
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Figure 2 shows the inside of a nuclear reactor in a nuclear power station.

Figure 2

_Control rods

—

— Hot water out

Fuel rods

+— Cold water in

Ina nuclear reactor a chain reaction occurs, which causes neutrons to be released.
The control rods absorb neutrons.
‘The control rods can be moved up and down.

Explain how the energy released by the chain reaction is affected by moving the control
rods,
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Figure 3 shows how the power output of the nuclear reactor would change if the control
rods were removed.

Figure 3

2400

2000

power output
in MW 1600

1200

800

400

0 2 4 & 8 10 12
time in minutes

Calculate the rate of increase of power output at 10 minutes.

Rate of increase of power output = MW / minute
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rate of increase between 240 and 276 (MW / min)

allow 1 mark for attempt to calculate gradient of line at 10 minutes




image2.png




image55.png
light nuclei

join to form a heavier nucleus
allow hydrogen nuclei for light nuclei
allow helium nucleus for heavier nucleus

(some of the) mass of the nuclei is converted to energy
allow particles for nuclei
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() (nuclear) fission is the spliting of a (large atomic) nucleus
do not accept particle/atom for nucleus

(nuclear) fusion s the joining of (two atomic) nuclei (to form a larger one)
do not accept particles/atoms for nuclei

(i) energy
accept heat/radiation/nuclear energy
accept gamma (radiation)
do not accept neutrons/eutrinos
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Nuclear fission is used in nuclear power stations to generate electricity. Nuclear fusion
happens naturally in stars.

(i) Explain briefly the difference between nuclear fission and nuclear fusion.

(i) Whatis released during both nuclear fission and nuclear fusion?
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any two from:

+  easy to obtain / extract
« available in (very) large amounts
«  releases more energy (per kg)

do not accept figures only
naturally occurring is insufficient

seawater is renewable is insufficient

less cost is insufficient

allow produces little /no radioactive waste
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Punctuation and grammar

Buler and pencil for diagrams
gutstanding effort every lesson
Underline title and key information

Doates and tities every lesson

Date format: Day, Month, year
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